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RELEERS O nEHEEME | R
w8 | opos | BE| ppgy | [ REREREEE | RERRWEE REBARMEE REERWRE
B B EARSEM EASEM DERES
Gx1) Gx1) Gx1) Gx1) mE
® [©) ® @ ® ® @ @
Jm |# BULER| [243,140] (250,950) 190,710 (198,520)] +[ 2,410 (2,480) xm3iE | 1,880 (1,950) xpusize | +[ (7,810)] (0xmmze)
o 3 & | | 250,950 (313,600)| 198,520 (261,170)|+| 2,480 (3,020) == | 1,950 (2,500) xmE= |+| 7.810] 70xmEE
S | ag 1. 2 ®E| | 33,600 (91,740)| 261,170 (339,310)|+| 3,020 (3,800) x| 2,500 (3,280) x
el | | 301,740 339,310 +| 3,800 xmeEE | 3,280 X MEE
1A | om |# BBER| [131,970] (139,780)| 105,750 (113,560) |+ 1,300 (1,370) sz | 1,030 (1,100) xpasiae | +[7,810)] (oxpusise)
NS 3 & | | 139,780 (202,430)| 113,560 (176,210)|+| 1,370 (1,910) == | 1,100 (1,650) xm#E= |+| 7.810] 70xmEE
oA 1o | 2 me| | 202,43 (80,570)| 176,210 (254,350) |+ 1,910 (2,690) x M | 1,650 (2,430) xm%E
FT |7 n w| | 280,570 254,350 +| 2,69 X MEE | 2,430 X MEE
2n | 2z |* BHER 94,790 (102,600)| 77,320 (85, 130)|+| 920 (990) x M= 750 (820) xmE=E |+[ (7,810] (0x mEE)
NS s & W | 102,600 (165,250 85130 (147,780)|+| 990 (1,540) x mz= 820 (1,360) xm&=E |+| 7,810 70xmEE
30N 32 |1 2®R 165,250 (243,390) 147,780 (225,920)|+| 1,540/ (2,320) xmn%== [ 1,360 (2,140) xmE=E
FT |7 m w| | 243,390 225,920 +| 2320 xmEE | 2,140 X MEE
1A | gz |* BAUER 76,510 (84,320)| 63,400 (71,210)|+| 740 (810) x A= 610]  (680) xmE=E |+[ (7,810] (ox mE®)
NS 3 B R 84,320 (146,970)| 71,210 (133,860)|+| 810 (1,360) x %z 680 (1,220 xmE® |+| 7,800 70xmm=
wh 1ol 2 mR| | 146,970 (225,110)] 133,860 (212,000)|+| 1,360 (2,140) x| 1,220 (2,000) xm%E
FT |7 m | | 225110 212,000 +| 2,140 xmeEE | 2,000 X MEE
1A | gz | BUER 71,140 (78,950)| 60,650 (68,460)|+|  690] (760) x M= 580 (650) xMEE |+[ (7,810] (ox mE®)
NS 3 B R 78,950 (141,600)| 68,460 (131,110)|+| 760 (1,300) x iz 650 (1,200 xmE®E |+| 7,810  70xmm=
oA oo |1 2 mm| | 141600 (219,740)| 131,110 (209,250)|+| 1,300 (2,080) x g [ 1,200 (1,980) x Mm%
FT |7 n | | 219,740 209,250 +| 2,080 xmeE | 1,980 X MEE
S| gm |* BHLR 62,2100 (70,020)| 53,470 (61,280)|+| 600 (670) x Bz 5100 (580)] xMEE |+[ (7,810] (ox mE®)
NS 3 B R 70,020 (132,670)| 61,280 (123,930)|+| 670 (1,210) x sz 580 (1,120) xmE®E |+| 7,810  70xmm=
60A | | 2Rl | 13260 10,810)] 123,930 (202,070)|+| 1,210 (1,990) x Mm% [ 1,120 (1,900) x
FT |7 n = | 210,810 202,070 +| 1,99 X MEE | 1,900 X MEE
61n | 2z |* BULR 55,910 (63,720)| 48,420 (56,230)|+|  540] (610) x M= 460 (530) xmE=E |+[ (7.810] (oxmE®)
NS 3 B R 63,720 (126,370)| 56,230 (118,880)|+| 610 (1,150) xmE= 530 (1,070) xmE®E |+| 78100  70xmm=
A 1o | 2 @Rl | 126,370 (204,5100| 118,880 (197,020)|+| 1,150 (1,930) x M | 1,070 (1,850) xm%E
FT |7 n 5| | 204,510 197,020 +| 1,90 xmeE | 1,850 X MEE
A | 2z |* BHER 51,250 (59,060)| 44,690 (52,500)| +|  490] (360) x %= 420 @90) xmE= |+[ (7.810] (Gox mE®)
NS 3 B R 59,060 (121,710)| 52,500 (115,150)|+| 560 (1,100) x Mtz 4% (1,040 xm&E |+| 7,810 70xmEE
o0A | o[ 2Rl | 121,710 (199,850)| 115,150 (193,290)|+| 1,100 (1,880) x M | 1,040 (1,820) xmE
FT |7 n 5| | 199,850 193,290 +| 1,880 xmeE | 1,820 X MEE
I | om |* BULR 47,570 (55,380)| 41,740 (49,550) | +| 450 (5200 xMOEE 3900 (460)] xmEE |+[ (7,810] (ox mE®)
NS 3 B R 55,380 (118,030)| 49,550 (112,200)|+| 520 (1,070) x mg= 460 (1,000 xm&=E |+ 7,810 70xmEE
oA || 2Rl | 118,00 (196,170)| 112,200 (190,340)|+| 1,070 (1,850) x| 1,010 (1,790) xm%E
0100  FC 77 | w| | 196,170 190, 340 +| 1,850 xmeEE | 1,79 X MEE
w8 [T | g [fREER 41,110 (48,920)| 35,870 (43,680)|+| 390 (460) xMEE 300 (410)] xmEE |+[ 7,810] (Gox mE®)
NS 3 B R 48,920 (111,570)| 43,680 (106,330)|+| 460 (1,000) x Mz 40 (950) xmzE= [+| 7,810  70xmEE
100A | 1.2 me| | 111,570 (189,710)| 106,330 (184,470)|+| 1,000 (1,780) x 3 950/ (1,730) x mE®
FT |7 n 5| | 189,710 184, 470 +| 1,780 xmeEE | 1,730 X MEE
014 | 25 ¢ BAER 39,060 (46,870)| 34,300 (42, 110)|+| 370 (440) xmE=E 3200 (390) xmEE |+[ (7,810] (GoxmE®)
e 3 B R 46,870 (109,520)| 42,110 (104,760)|+| 440 (980) x sz 390 (930) xmEE [+| 7,810 70xmEE
MOA | |1 2R | 109,520 (187,660 | 104,760 (182,900)|+| 980 (1,760) x 3 930 (1,710) xMEE
FT |7 n 5| | 187,660 182,900 +| 1,760 xmeEE | 1,710 X MEE
A | 25 ¢ BAER 37,3200 (45,130)| 32,950 (40,760)|+|  350] (420) x = 3100 (380)] xmEE |+[ (7,810] (Gox mE®)
ey 3 B R 45,130 (107,780)| 40,760 (103,410)|+| 420 (960) x sz 380 (920) xmEE [+| 7,800 70xmEE
20A | |1 2 me| | 107,780 (185,920 | 103,410 (181,550)(+| 960 (1,740) x g 920 (1,700) x MEE
FT |7 m =] | 185,92 181, 550 +| 1,740 X MEE | 1,700 X MEE
2IA | 25 ¢ BAER 35,840 (43,650)| 31,810 (39,6200 |+|  340] (410) xMEE 3000 (370)) xmEE |+[ 7,810] (Gox mE®)
e 3 B R 43,650 (106,300)| 39,620 (102,270)|+| 410, (950) x mzE 370 (910) xmE=E [+| 7,800  70xmEE
BOA oo |1 2R | 106,300 (184,440 | 102,270 (180,410)|+| 950 (1,730) x g 910/ (1,690) x mE®
FT |7 n 5| | 184,440 180, 410 +| 1,730 xmeEE | 1,690 x MEE
5IA | 25 ¢ BAER 34,610 (42,420)| 30,860 (38,670)|+| 3200 (390) xmEzE 290 (360)] xmEE |+[ (7,810] (Gox mE®)
ey 3 B R 42,420 (105,070)| 38,670 (101,320)|+| 300 (940) x sz 360 (900) xmEE [+| 7,800 70xmEE
WOA |1 2| | 105,070 (183,2100| 101,320 (179,460)|+| 940 (1,720) x g 900 (1,680) xMEE
FT |7 n | | 183,210 179, 460 +| 1,720 xmeEE | 1,680 x MEE
WA | g5 ¢ BAER 33,520 (41,330)| 30,020 (37,830)|+| 310 (380) x M= 280 (350)] xmEE |+[ (7,810] (ox mE®)
e 3 B R 41,330 (103,980)| 37,830 (100,480)|+| 380 (930) xmzE 350 (890) xmEE |+| 7,800  70xmEE
10A oo [1. 2R | 103,980 (182,120)| 100,480 (178,620)|+| 930 (1,710) x g 890 (1,670) x mE®
FT |7 n = | 182,120 178,620 +| 1,70 xMEE | 1,670 X MEE
151 | 25 |+ BAER 33,4200 (41,230)| 30,150 (37,960)|+| 310 (380) xm&= 280 (350)] xmEE |+[ (7,810] (ox mE®)
e 3 B R 41,230 (103,880)| 37,960 (100,610)|+| 380 (9200 x sz 350 (890) xmEE [+| 7,810]  70xmEE
160A | oo |1 2me| | 103,880 (182,020)( 100,610 (178,750)(+| 920 (1,700) x g 890 (1,670) x mE®
FT |7 n w| | 182,020 178,750 +| 1,700 xmeEE | 1,670 x MEE
1614 | 25 ¢ BAER 32,550 (40,360)| 29,470 (37,280)|+| 3000 (370) x M= 2700 (340)] xmEE |+[ (7,810] (Gox mE®)
e 3 B R 40,360 (103,010)| 37,280 (99,930)|+| 370, (9200 x sz 30 (880) xmEE |+| 7.,810] 70xmEE
TOA | oo 1. 2me| | 103,000 (181,150 99,930 (178,070)+| 920 (1,700) x g 880/ (1,660) x MEE
FT |7 n | | 181,150 178,070 +| 1,700 xmeEE | 1,660 X MEE
2= |A BUER 31,750 (39,560)| 28,840 (36,650)| +| 200 (360) x = 2700 (340)] xmEE |+[ (7,810] (Gox mE®)
A 3 B R 39,560 (102,210)| 36,650 (99,300)|+| 360 (910) x 30 (880) xmEE |+| 7,800 70xmEE
ME |l zme| | 102,210 (180,350)| 99,300 (177,440)|+| 910 (1,690) xmE 880/ (1,660) x MEE
el 5| | 180,350 177, 440 +| 1,60 xmeEE | 1,660 X MEE
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2= +| 54180
J=]
104 : fﬁl’; A0 | g0 x mEE
FT | 38 N = + 52,470
ki JT
NA | g |4 BELR +| 30,49
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ox? : fﬁl’:“ BI0N 1| 230xmE=E
A +| 2879
ki JT
A | pg [ABELR +| 22,600
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30A 3e 1. 2BE + 20,900
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Nl e HEREOEMES | |AEREOFMES t 1860 o0
o T B FRFELH FATFELH R | MoxmEE
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s ~ 2104 ~ 2104 16,950
nA | oz |2 BHER 267,500 2,670 x MEE N
. |
i 3 B R 14,580 | o0
oA |l 2R A~ 2794 MA~ 2794 I
=T e " 286,400 2,860 x B '
SIA | 2 [ABALER +| 70
s |7l & =& 280A~ 3490 280A~ 3490 13,0000 | 20
60X L. 2&R 324,300 3,240 x MEE
g 38 .a +| 13,000
ki JT
A | oz |* BRAER 350A~ 4194 350 A~ 4194 I 3w
s |7l & & 362,200 3,620 % M 1,880 | o
70A 3o 1. 2BE + 11,880
FT |7 n [ A0A~ 489N 40A~ 489N '
A | oz |F BAER 400, 200 4,000 x MEE N
. |
NS 3 & R O30 | soxmms
oA |l 2mR 490A~ 559K 490 A~ 559 I
=T e [ 438,100 4,380 x I E '
BIA | g |4 BELR +| 12080
s |7l & =& S60A~ 6290 560A~ 629 £BHAD 10370 | e
VS R EINPY T 476,000 4,760 x B LS R I R,
w10 FE| Tl w| N . '
BE g | e [t BUER 630A~ 699A 630~ 699A
N I 513,900 5,130 X B &
00A |l 2l
FT |7 a [ 700A~ 769 700A~ 769N
WA | 55 | BEEE 551,800 5,510 x MNEE
ns | ls & R
oA | b zme 770A~ 839 770A~ 839
FT el [ 589,700 5,800 x B
mA | = 4 mULER
ey 3 B R 840A~ 909N 840A~ 909
WA |2 me 627,700 6,270 x MEE
FT |7 m "
21 | oz [P BOEE 910A~ 979 910A~ 979
i 3 ® R 665, 600 6,650 x N
BOA |2l
FT |7 n [ 980 ~1, 049 A 980.A~1, 049X
BIA | gz |F BHLE 703, 500 7,030 x MEE
n | B R
WA a1 2BR 1,050 A~ 1,050 A~
FT |7 n [ 741, 400 7,410 MEE
WA | o2 [4BEER] ] V
i 3 B R
1508 [ o 2&mm
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F—LREMEMNE

1 A M
. %1%+ 2BOHAEABHCHL T2BHATES D et RfEHm
gfﬁﬂt TERS E’E‘ ERES BECNE nEEE nEZE
7 7 nBEkES RAIHEER HERERR S RE R HEEARSY
m | B | M|’ M B OE TR E B
O) @ ® @ @ )
)z [ BULER a Hits | 31,600 35,200] 22,100 22,100
3 B R ~ 15K . b Hils | 17,400 19,400| 12,200 12,200
10 320 x MIELEE X MEEA 14,200 | 15,600 | 9,900 | 9,900
;‘f y2 [1. 2 BE| | 32,030xMEAK S X MEAR o Mg | 15,200 16,900| 10,600 10,600
k) I3 d #5t | 13,600 15,100[ 9,500 9,500
MA | 28 |4 BEER a Hits | 15,800 17,600| 11,000 11,000
o 3 B R 16A~ 25A . b His | 8,700 9,700 6,100 6,100
N 190 x MEE x MEA 7,100 7,800 | 4,900 4,900
20A 3 [ 2 @R[ [ 19,220 MEEAK R xMEAR c i | 7,600 8,400 5,300 5,300
&c k) I3 d #5 | 6,800 7,500( 4,700 4,700
A | 2 [FBHER a Hits | 10,900 12,200 7,600 7,600
i 3 B R 26A~ 35K . b His | 6,000 6,700 4,200 4,200
N 130 x MEE x MEA 4,900 5,400 | 3,400 3,400
304 32 |1 2 @R[ | 13720 MEAK R MEAR c fhff | 5,200 5,800| 3,600 3,600
T k) I3 d Hhii | 4,700 5,200) 3,300 3,300
3N | o [FBHER a Hils | 9,800 10,900 6,800 6,800
N 3 B R 36A~ 45 . b His | 5,400 6,000 3,700 3,700
100 x MEE x MEA 4,300 4,700 | 3,000 3,000
WA | |1 2 BBl | 10,670x MEAMK SR X MEAR o Mg | 4,700 5,200 3,300 3,300
T k) I3 d #5 | 4,200 4,600( 2,900 2,900
NA | oz ¢ BELER a Ml | 8,800 9,800 6,100 6,100
N 3 B R 46A~ 60N - . b Mg | 4,800 5,400 3,400 3,400
80 x MFLHE x MEZA 3,900 | 4,300 | 2,700 | 2,700
SOA | ag 1. 2 &E| | 8,000 MEAK X MEAK o Mg | 4,200 4,700 2,900 2,900
&T kL I3 d #5i | 3,800 4,200( 2,600 2,600
SIA | gm |4 BUER a Mg | 7,200 8,100 5,100 5,100
=3
N 3 B R 61A~ 75K - . b Mg | 4,000 4,400 2,800 2,800
60 X ML x ANE A 3,200 3,600 | 2,300 2,300
60A | g |1 2 &E| | 6.400xmMEEAK R XMEAR c Ml | 3,500 3,800 2,400 2,400
ET 77 |a I3 d #5t | 3,100 3,400[ 2,100 2,100
61A | o= |4 BUER a i | 6,300 7,100] 4,400 4,400
=
N 3 B R 76~ 90 - . b Mg | 3,500 3,900 2,400 2,400
50 x MBI x AN 2,800 3,100 | 1,900 1,900
A g 1L 2 BBl | 5 330X MEAK MBS o Mg | 3,000 3,400 2,100 2,100
T kL I3 d #5t | 2,700 3,000( 1,900 1,900
7N | gm |4 BUER a Mg | 7,100 7,900 4,900 4,900
=
N 3 B R 91A~ 1054 - . b M | 3,900 4,300 2,700 2,700
40 x MBS x MERA 3,200 3,500 | 2,200 2,200
80A 3 [1. 28R |4 570 x hOEE A%k X MEAK c s | 3,400 3,800| 2,300 2,300
&T k) I3 d #5t | 3,000 3,400[ 2,100 2,100
8IA | o= |4 BELER a M| 6,300 7,100 4,400 4,400
=
N 3 B R 106 A~ 1201 - . b His | 3,500 3,900 2,400 2,400
» 40 x MFLE x MEA 2,800 3,100 | 1,900 1,900
0A oo |1 2 &R | 4000xmEAK MBS o Mg | 3,000 3,400 2,100 2,100
00| FC 77 | [ d #s 2,700 3,000] 1,900 1,900
BE x| e [4EUER a Mg | 5,500 6,200 3,900 3,900
=
N 3 B R 121~ 1354 = b His | 3,000 3,400 2,100 2,100
» 30 X MBI X AN 2,500 2,800 | 1,700 1,700
1006 o1 2Rl | 3550 xmERAMK X MEAK c i | 2,600 2,900 1,800 1,800
ET 77 |a I3 d #5t | 2,400 2,600[ 1,600 1,600
1018 | = [4EALR a it | 6,100 6,800] 4,200 4,200
=
oS 3 B R 136 A~ 150\ = b His | 3,300 3,700 2,300 2,300
» 30 X NS X A A 2,800 3,000 | 1,900 1,900
MOA | |1z mR| | 3.200x mEAM MBS c i | 2,900 3,200] 2,000 2,000
&T kL I3 d #5t | 2,600 2,900[ 1,800 1,800
MA | g [ABELR a Hisi | 5,500 6,200 3,900 3,900
D 3 B R 151~ 1804 = b His | 3,000 3,400 2,100 2,100
» 20 X ML X A A 2,500 2,800 | 1,800 1,800
1208 | |1z mR| | 2.660x mEAM MBS c it | 2,600 2,900 1,800 1,800
T k) I3 d #5i | 2,400 2,600[ 1,600 1,600
A | g [ABELLR a #high | 5,100 5,700] 3,500 3,500
AL 3 B R 181A~ 2104 b it | 2,800 3,100] 1,900 1,900
20 X MBI X A A 2,300 2,600 | 1,600 1,600
BOA | |1z mR| | 2280 xmEAM S X BN o M | 2,400 2,700 1,700 1,700
&c k) I3 d #5t | 2,200 2,400[ 1,500 1,500
BIA | g [ABELE a Ml | 5,500 6,200 3,900 3,900
S 3 B R 21TA~ 240A b His | 3,000 3,400 2,100 2,100
20 X MBI X A A 2,500 2,800 | 1,700 1,700
WA | |1z | 2,000 mEAM MR c it | 2,600 2,900 1,800 1,800
&c k) I3 d #5i | 2,400 2,600[ 1,600 1,600
MA | g [ABELR a Hiisi | 5,400 6,000 3,700 3,700
oS 3 B R 241A~ 270A b Mg | 2,900 3,300 2,000 2,000
10X AN X AN A 2,300 2,600 | 1,600 1,600
08 | g |1 zmR| | 770X mEAM MR c i | 2,500 2,800( 1,800 1,800
T k) I3 d #5t | 2,300 2,500[ 1,600 1,600
1IN | g [ABELLR a thish | 4,800 5,400] 3,400 3,400
D) 3 B R 271A~ 300A . b it | 2,600 2,900 1,800 1,800
10 % AN x AN A 2,200 2,400 | 1,500 1,500
1608 | oo |1z mR| | 1.600x mEAM MR c i | 2,300 2,500] 1,600 1,600
&T k) I3 d #5 | 2,000 2,300[ 1,400 1,400
161N | pm |4 BEHLLER a Mg | 5,400 6,000 3,700 3,700
=
o 3 B R 30TA~ . b His | 2,900 3,300 2,000 2,000
N 10 % AN x AN 2,300 2,600 | 1,600 1,600
TN | g |1 2R | 140X mEAM MR c i | 2,500 2,800( 1,800 1,800
&c k) I3 d #5t | 2,300 2,500[ 1,600 1,600
,m |4 BHLER a Hils | 4,800 5,400 3,400 3,400
=
7 3 B R b His | 2,600 2,900 1,800 1,800
S YT 2200 2,400 | 15001300\ Dy 2,300 2,500| 1,600 1,600
k) I3 d #5t | 2,000 2,300[ 1,400 1,400




= 1 EREC L ONAESS
= R =P
?ZE% EEXS E/E\ FED XBIRROHIRA R ABOBE
) 7 ShdFEL QHIEIC nBEthESE
st mE |
o | o |o] @ ® 2
e |4 ﬁ“’ii:’: + 4,500
100 3 & % +| 22,120 + 220 x fnE =
i—c 3% 1 ~ 2 ﬁJL
2l 7
A | 2g 4‘3'&1’1%: + 4,500
S 3 ®m R +| 11,060| + 10 x &
20A = |1 2®R
e | 3% g [
A | s 45&1&1&2 + 4,500
301)3\\»_» 3 ﬁﬁ:’; mEc CLES +| 7,370| + 70 x fnE =
o 1. 2 & =
e | 3= ) Iﬁ': HOFBEE
N 4‘3'&1’1%: ~ BA 4,500
NS 3 B =R 27,330 +| 5,530+ 50 x B E
wh oo 2ER
FT |77 g [ 16A~ 25A
ax s | ﬁzu::,: 16,800 4,500
s 3 B R +| 4,420+ 40 x EE
SOA |1l 2&R 26A~ 354
FT |7 n [ 12,280
sk | 2g 45'&1’1%: + 4,500
NS 3 B =R 36A~ 450 +| 3,690+ 30 x MEE
60.A - [1. 28R 9,770
FT | 3% g I3
oh_ |23 4:%21:11',2 46A~ 60N | 4,500
" 3 ® B 7,500 +| 3,160| + 30x MnEE
oA . 2&R
FT |77 g [ 61h~ 75
NA | g [ EALR 6.1301 . 4,500
" 3 ® R +| 2,760| + 20x pnE=E
80A | . 2&R 76K~ 90
FT |7 a [ 5,220
81N | 23 4,531:11',2 + 4,500
9011.9 3 ® R 9TA~ 1352\60 +| 2,450 + 20 x fnE
= 1. 2®R .
2e | 33 & (©+®@)
20/100 El 2, -
ol Sn |23 4%&41:,2 1064~ 120A | 4,500 x 10/100
S 3 ® R 4,250 +| 2,210|+ 20 x pHE
L I CINPY T
FT 7 |a gl | 1214~ 1354
1014 | o5 [+ RALE 3.9201 . 4,500
" 3 ® R +[ 2,010|+ 20x pnE
1M0A 3o |1, 28R 136 A~ 1504
FT |7 n [ 3,660
mMA |28 4‘3'&1’1%: + 4,500
o 3 & Rl | 15TA~ 180A +| 1,840| + 10 x Mg
1204 o [1. 28R 3,160
e | 3% g [
WA | 2m |* ﬁ"&u:',z 181A~ 210A |, 4,500
e 3 B R 2,810 +| 1,700| + 10% L
BA L 2 &R
FT |7 n gl | 2114~ 2404
1315 | og [* RALE 2.3401 . 4,500
" 3 ® R +| 1,580| + 10 x pn =
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FT |7 n [ 2,440
WA |25 | ﬁgur:,: + 4,500
»d 3 & Rl | 27TA~ 300A +| 1,470| + 10 x Mg
150 A = [1. 28R 2,360
e | 3% g [
1A | 23 | ﬁ&ub,z 301A~ N 4,500
o 3 ® R 2,150 +| 1,380| + 10x MEE
160A = |12 %R
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T | 3F g I3
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= =]
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» 30 x MEE x MERA 2,500 | 2,800 | 1,700 | 1,700
1004 oo |1l 2 mR| | 340X mEAH MR c #skk | 2,600 2,900 1,800 1,800
T | R d i | 2,400 2,600] 1,600 1,600
A | g [ABELLR a Hiisi | 6,100 6,800 4,200 4,200
v 3 ® R 136 A~ 150A b #skt | 3,300 3,700 2,300 2,300
» 30 X MNELE x MERA 2,800 | 3,000 | 1,900 | 1,900
oA oo 1 2Rl | 3100 mEAH S MR AR o Mt | 2,900 3,200| 2,000 2,000
FT E R d i | 2,600 2,900 1,800 1,800
MA | o [ABELE a Hiisi | 5,500 6,200 3,900 3,900
ni 3 ® R 151A~ 180A , b #skk | 3,000 3,400 2,100 2,100
» 20 x M x MEA 2,500 | 2,800 | 1,800 | 1,800
1206 ool 2Rl | 2580 xmEAH S MR AR o it | 2,600 2,900| 1,800 1,800
ET E R d i | 2,400 2,600] 1,600 1,600
A | g [ABELR a #hig | 5,100 5,700] 3,500 3,500
»o 3 ® R 181A~ 210A , b i 2,800 3,100| 1,900 1,900
20 x M x MEA 2,300 | 2,600 | 1,600 | 1,600
1A oo [ 2Rl | 2210 mEAH MR c #skk | 2,400 2,700 1,700 1,700
FT E R d i | 2,200 2,400] 1,500 1,500
BIA | g [ABELE a Hisi | 5,500 6,200 3,900 3,900
v 3 B R 21TA~ 240N b #skk | 3,000 3,400 2,100 2,100
10 x ML x MEA 2,500 | 2,800 | 1,700 | 1,700
oA ool 2Rl | 10 mEAH S MR AR o Mt | 2,600 2,900| 1,800 1,800
ET E R d il | 2,400 2,600] 1,600 1,600
MA | g [ABELE a Hiisi | 5,400 6,000 3,700 3,700
ni 3 ® R 241A~ 270N , b #skk | 2,900 3,300 2,000 2,000
10 x ANELE x MERA 2,300 | 2,600 | 1,600 | 1,600
106 oo [ 2 mR| | 1720 mEAHK S MR AR o it 2,500 2,800| 1,800 1,800
FT E I3 d i | 2,300 2,500] 1,600 1,600
1IN | g [ABELLR a thish | 4,800 5,400] 3,400 3,400
» 3 ® R 271A~ 300A , b i 2,600 2,900| 1,800 1,800
10 x B x MEA 2,200 | 2,400 | 1,500 | 1,500
1006 oo 1 2Rl | 1550xmEAHK S MR AR o Mt | 2,300 2,500| 1,600 1,600
FT E R d i | 2,000 2,300 1,400 1,400
161A | = |4 BEALR a i35 | 5,400 6,000] 3,700 3,700
=
hi 3 B R 301A~ , b #skk | 2,900 3,300 2,000 2,000
10 x ML x 10 2,300 | 2,600 | 1,600 | 1,600
A oo |1 2Rl | LAa0xmEAH IS > B A c #skt | 2,500 2,800 1,800 1,800
FT E R d i | 2,300 2,500] 1,600 1,600
)z |4 BUER a Hoik | 4,800 5,400] 3,400 3,400
171A 3 B R b #skk | 2,600 2,900 1,800 1,800
: 2,200 | 2,400 | 1,500 | 1,500
e 2 mE c #skt | 2,300 2,500 1,600 1,600
E R d i | 2,000 2,300 1,400 1,400




. FNBEMIN 1SRECELOFRAERZ
s _ HNEEEEMNE Eﬁlﬁﬂﬂ% gL NS
=N EEXS XEIBROBRA R
7 SNBFEL QRIS nakEs
m mE |
® @ [B)
4,500
21,890| + 210X MEE
10A
=T
1NA 4,500
o 10,940 + 100 x g
204
=T
21K 4,500
30’Ib mEs L Ee 7,300 + 70 x MEE
A O FIAE A
e ~ B5A 4,500
o 27,330 5,470| + 50x MEE
404
FT 16A~ 25X
e 16, 800 4,500
Al 4,380| + 40 x N
500 26A~ 35A
FT 12,280
S1A 4,500
i A~ A5A 3,650| + 30 x Mg
60X 9,770
=T
6'IA‘ 46 N~ 60N 4,500
o 7,500 3,120| + 0x MEE
700
FT 61A~ T5A
A 6,130 4,500
o 2,740| + 20 x g E
80A 76 A~ 90A
FT 5,220
81A 4,500
b STA~ 1054 2.830[+|  20xmmE
90 4,660
16100 FT
i [ 106 A~ 1204 4500
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RELEERS © MBREEME | S —
| o s FERERMRE | RARBMEE FREMERHRE RERBHRE
B5 EANEM EARH B BN EE
Gx1) Gx1) Gx1) Gx1) mE
® [©) ® ® @ @
235,480] (243,000)] 184,800 (192,320)|+[ 2,330 (2,400) xmE=E | 1,830 (1,900) x MBE |+] (7,520)] (70 x MAE)
243,000 (303,590)| 192,320 (252,910)|+| 2,400 (2,930) xmE=E | 1,900 (2,420 x MEE 7.50]  70xmEE
10A 303,590 (378,800)| 252,910 (328,120)|+| 2,930 (3,680) xmE=E | 2,420 (3,170) x MEE
FT 378, 800 328,120 +| 3680 xmEE | 3,170 x MEE
A 127,790] (135,310)| 102,450 (109,970)|+| 1,250] (1,320) < m&3 | 1,000 (1,070) xM&E |+[ (7,520)] (70 x mEE)
D 135,310 (195,900)| 109,970 (170,560)|+| 1,320 (1,850) x Mm% | 1,070 (1,590) x MEE 7.50] 70xmEE
204 195,900 (271,110)| 170,560 (245,770)|+| 1,850 (2,600) x Mm% | 1,500 (2,340) x MEE
FT 271,110 245,770 +| 2600 xmEE | 2,340 x MEE
- 91,780 (99,300)| 74,890 (82,410)|+| 890 (960) x mE=E 7300 (800) xm&E |+[ (7,520)] (70x mEE)
e 99,300 (159,890)| 82,410 (143,000)|+| 960 (1,490) xmE= 800 (1,320 x mMEER 750 70xmEE®
304 159,890 (235,100)| 143,000 (218,210)|+| 1,490 (2,240) xmE=E | 1,320 (2,070) x mMEE
FT 235,100 218,210 +| 2,240 xmEE | 2,070 x MEE
-~ 74,030 (81,550)| 61,360 (68,880)|+| 720 (790)] x M= 590 (660) xm&E |+[ (7,520)] (70x mEE)
D 81,550 (142,140)| 68,880 (129,470)|+| 790 (1,310) xmE= 660 (1,180) x e 7,50]  70xmEE
40 142,140 (217,350)| 129,470 (204,680)|+| 1,310/ (2,060) x M= | 1,180 (1,930) x MEE
FT 217,350 204, 680 +| 2,060 xmEE | 1,930 x M
A 68,800 (76,320)| 58,670 (66,190)|+| 670  (740) xmE= 560 (630) xm&®E |+[ (7,520)] (70x mEE)
s 76,320 (136,910)| 66,190 (126,780)|+| 740 (1,260) xmE= 630 (1,160) x M= 7.50] 70xmEE
500 136,910 (212,120)| 126,780 (201,990)|+| 1,260 (2,010) x Mm% | 1,160 (1,910) x mMEE
FT 212,120 201,990 +| 2,010 xmEE | 1,910 x M
SiA 60,170 (67,690)| 51,720 (59,240)|+| 580  (650) x ImE= 490]  (560) xmBE |+[ (7,520] (70x mE=)
D 67,600 (128,280)| 59,240 (119,830)|+| 650 (1,170) xmEs= 560 (1,000) x Mg 750] 70xmEE
601 128,280 (203,490)| 119,830 (195,040)|+| 1,170/ (1,920) x Mm% | 1,000 (1,840) x MEE
FT 203, 490 195, 040 +| 1,92 xmEE | 1,840 x MEE
1A 54,080 (61,600)| 46,840 (54,360)|+| 520 (500)] x mE=E 450]  (520) xmBE |+[ (7,520] (70x mE=E)
o 61,600 (122,190)| 54,360 (114,950)|+| 590 (1,110) x mE= 520 (1,040) xmEE 7,50 70xmE®
708 122,190 (197,400)| 114,950 (190,160)|+| 1,110/ (1,860) x %= | 1,040 (1,790) x MEE
FT 197, 400 190, 160 +| 1,860 xmEE | 1,79 x M
A 49,570 (57,090)| 43,230 (50,750)|+| 470 (540) xmE= 410]  (480) xmBE |+[ (7,520] (70x mE=H)
D 57,000 (117,680) 50,750 (111,340)|+| 540 (1,070) x mE= 480 (1,000 x MEE 7.50] 70xmEE®
80A 117,680 (192,890)| 111,340 (186,550)|+| 1,070 (1,820) x Mm% | 1,000 (1,750) x MEE
FT 192, 890 186, 550 +| 1,820 xmEE | 1,750 x MEE
1A 46,010 (53,530)| 40,380 (47,900)|+|  440] (510) xmE= 380  (450) xm&E |+[ (7,520)] (70x mEE)
o 53,530 (114,120)| 47,900 (108,490)|+| 510 (1,030) xm&E= 450 (970) x MEER 7,50  70xmEE®
90 114,120 (189,330)| 108,490 (183,700)|+| 1,030 (1,780) x &= 970 (1,720) x m@E
157100 FT 189, 330 183, 700 +| 1,780 xmEE | 1,720 x MEE
i [ g A 39,830 (47,350) 34,760 (42,280) |+ 380  (450) xmE®= 3200 (390) xmnE® (7,520)| (70 x mE )
o 47,350 (107,940)| 42,280 (102,870)|+| 450 (970) x M@= 390 (920) xmEE 7.50] 70xmEE
1004 107,940 (183,150)| 102,870 (178,080)|+| 970 (1,720) xmEs= 920 (1,670) x MEE
FT 183,150 178, 080 +| 1720 xmEE | 1,670 x MEE
01~ 37,840 (45,360)| 33,230 (40,750)|+| 360  (430) xMmME= 3100 (380) xm&=E |+[ (7,520)] (70x mEE)
P 45,360 (105,950)| 40,750 (101,340)|+| 430  (950) xmE= 380  (900) xmEE 7.50] 70xmEE®
104 105,950 (181,160)| 101,340 (176,550)|+| 950 (1,700) xmEs= 900 (1,650) x mEE
FT 181,160 176, 550 +| 1,700 xmEE | 1,650 x M E
A 36,150 (43,670)| 31,930 (39,450)|+| 340 (410) xmE= 3000  (370) xm&=E |+[ (7,520)] (F0x mEE)
P 43,670 (104,260)| 39,450 (100,040)|+| 410 (930) xmE= 370 (890) xmEE 7.50]  70xmEE
1200 104,260 (179,470)| 100,040 (175,250)|+| 930 (1,680) xmE= 890 (1,640) x MEE
FT 179, 470 175,250 +| 1,680 xmEE | 1,640 x MEE
718 34,720 (42,240)| 30,820 (38,340)|+| 320 (390) x mE=E 290 (360) xm&®E |+ (7,520)] (F0x mEE)
P 42,240 (102,830)| 38,340 (98,930)|+| 390  (920) xmEE 360  (880) x mEE 7,52  70xmEE
1304 102,830 (178,040)| 98,930 (174,140)|+| 920 (1,670) xmE= 880 (1,630) x MEZR
FT 178, 040 174,140 +| 1670 xmEE | 1,630 x M E
1A 33,520 (41,040)| 29,900 (37,420)|+| 310 (380) xMmE= 2800 (350)| xm&=E |+[ (7,520)] (70x mEE)
P 41,040 (101,630)| 37,420 (98,010)|+| 380 (910) xmE= 350 (870) xmEE 7.50]  70xmEE®
1400 101,630 (176,840)| 98,010 (173,220)|+| 910 (1,660) xmE= 870 (1,620 x M@ZR
FT 176,840 173,220 +| 1,660 xmEE | 1,620 x M E
A 32,460 (39,980)| 29,080 (36,600)|+| 300 (370) xMmE= 2700 (340)| xm&E | +[ (7,520)] (70x mEE)
P 39,980 (100,570)| 36,600 (97,190)|+| 370 (890) xmE= 340 (860) x mEE 7.50]  70xmEE=
1500 100,570 (175,780)| 97,190 (172,400)|+| 890 (1,640) xmE= 860 (1,610) x M@ER
FT 175,780 172, 400 +| 1,640 xmEE | 1,610 x M E
51N 32,400 (39,920)| 29,230 (36,750)|+| 300 (370)] xmE= 2700 (340)| xm&E |+ (7,520)] (70x mEE)
P 39,920 (100,510)| 36,750 (97,340)|+| 370  (890) x M= 340 (860) xmEE 7,520  70xmEE
1601 100,510 (175,720)| 97,340 (172,550)|+| 890 (1,640) xmE= 860 (1,610) x M@ZR
FT 175,720 172,550 +| 1,640 xmEE | 1,610 x M
61N 31,550 (39,070)| 28,570 (36,000)|+| 290  (360) x ImME= 2600 (330) xm&E |+[ (7,520)] (F0x mEE)
P 39,070 (99,660)| 36,000 (96,680)|+| 360 (890) xmEE 330  (860) xmMEE 7.50] 70xmEE
1704 99,660 (174,870)| 96,680 (171,890)|+| 890 (1,640) xmE= 860 (1,610) x M@ZR
FT 174,870 171,890 +| 1,640 xmEE | 1,610 x MEE
30,780 (38,300)| 27,960 (35,480)|+| 280 (350)] xMmMEE 2600 (330) xm&=E |+[ (7,520)] (F0x mEX)
171A 38,300 (98,890)| 35,480 (96,070)|+| 350 (880) xMmEE 330  (850) xmEE 7.50] 70xmEE
Bl 98,800 (174,100)| 96,070 (171,280)|+| 880 (1,630) xmE= 850/ (1,600) x MEE
174,100 171,280 +| 1630 xmEE | 1,600 x MEE
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227,810 (235,030)| 178,900 (186, 120) |+ 2,260 (2,330) xpnE=E 1,770 (1,840) x =R (7,220) (70 x iNH =)
235,030 (293,580)| 186,120 (244,670)|+ 2,330 (2,820) xpnE=E 1,840 (2,330) xmnE= 7,220 70 x hNE R
293,580 (365,860)| 244,670 (316,950) |+ 2,820 (3,550) xpnE=E 2,330 (3,060) xpnE=E
365, 860 316, 950 + 3,550 x INEE 3,060 x INEE
123,610 (130, 830) 99,150 (106, 370) | + 1,210 (1,280) x &= 970/ (1,040) xhnE =R (7,220) (70 x INH =)
130,830 (189,380)| 106,370 (164,920) |+ 1,280 (1,780) xhnE =R 1,040 (1,530) xmE=E 7,220 70 x hNE R
189,380 (261,660)| 164,920 (237,200) |+ 1,780 (2,510) x &= 1,530 (2,260) xhnE=R
261, 660 237,200 + 2,510 x INEZFE 2,260 x INEZE
88,770 (95, 990) 72, 460 (79, 680) | + 860 (930) xmE=E 700 (770) x mE=R (7,220) (70 x i E =)
95,990 (154, 540) 79,680 (138,230) | + 930 (1,430) xmnE=E 770/ (1,260) xpnE=R 7,220 70 x fNE =R
154,540 (226,820)| 138,230 (210,510) |+ 1,430 (2,160) x &= 1,260 (1,990) x &=
226, 820 210,510 + 2,160 x INEZFE 1,990 x INEZFE
71,540 (78, 760) 59,310 (66, 530) [ + 690 (760)  x fNE=E 570 (640) xpnE=E (7,220) (70 x INH =)
78,760 (137,310) 66,530 (125,080) | + 760/ (1,260) x &= 640/ (1,130) xpn&E=E 7,220 70 x hNE R
137,310 (209,590)| 125,080 (197,360) |+ 1,260 (1,990) x =R 1,130 (1,860) x =R
209, 590 197, 360 + 1,990 x NEFE 1,860 x NEFE
66, 470 (73, 690) 56, 680 (63,900) [ + 640 (710) | xnE=E 540 (610) xmnE=x (7,220) (70 x IH =)
73,690 (132, 240) 63,900 (122,450) | + 710/ (1,200) xpn&E=E 610/ (1,110) xpn&E=E 7,220 70 x hnE R
132,240 (204,520)| 122,450 (194,730)(+ 1,200 (1,930) xhnE =R 1,110 (1,840) x =R
204,520 194,730 + 1,930 x INE R 1,840 x NEE
58,130 (65, 350) 49,970 (57,190) | + 560 (630) xfnE=E 480 (550) xmnE=x (7,220) (70 x iNH =)
65,350 (123,900) 57,190 (115, 740) |+ 630 (1,120) xmnE=E 550 (1,040) xhnE =R 7,220 70 x hnE R
123,900 (196,180)| 115,740 (188,020) |+ 1,120 (1,850) x &= 1,040 (1,770) xhnE=
196, 180 188, 020 + 1,850 x INEZE 1,770 x INEZFE
52,240 (59, 460) 45,260 (52,480) | + 500 (570) xmE=E 430 (500)  xmnE=R (7,220) (70 x fE =)
59,460 (118,010) 52,480 (111,030) | + 570/ (1,060) x &= 500 (990)  x mE=R 7,220 70 x fNE =R
118,010 (190,290)| 111,030 (183,310) |+ 1,060 (1,790) x =R 990/ (1,720) xhnE =R
190, 290 183,310 + 1,790 x NEE 1,720 x NEE
47,890 (55,110) 41,770 (48,990) | + 460 (530) xfnE=E 390 (460) xpnE=X (7,220) (70 x i H =)
55,110 (113, 660) 48,990 (107, 540) | + 530/ (1,020) xpn&E= 460 (960) xpnE=E 7,220 70 x hNE R
113,660 (185,940)| 107,540 (179,820) |+ 1,020 (1,750) xhnE =R 960 (1,690) xfnEH=E
185, 940 179, 820 + 1,750 x NEFE 1,690 x INEFE
44,450 (51, 670) 39,020 (46, 240) | + 420 (490) xmE=E 370 (440) xmE=E (7,220) (70 x i E =)
51,670 (110, 220) 46,240 (104,790) | + 490 (980) xmE=E 440 (930) xmE=R 7,220 70 x pNE =R
110,220 (182,500)| 104,790 (177,070) |+ 980 (1,710) xmnE=E 930 (1,660) xfnE=E
182, 500 177,070 + 1,710 x INEZE 1,660 x INEZE
38, 540 (45, 760) 33,650 (40,870) | + 360 (430) xmE=E 310 (380) xmnE= (7,220) (70 x fE =)
45,760 (104,310) 40, 870 (99, 420) | + 430 (930) xfmnE=E 380 (880) xmnE= 7,220 70 x hNE R
104,310 (176, 590) 99,420 (171,700) | + 930/ (1,660) xhnE =R 880 (1,610) xjnEH=R
176, 590 171,700 + 1,660 x NEFE 1,610 x INEFE
36,620 (43, 840) 32,170 (39,390) | + 340 (410) xE=E 300 (370) xmE=E (7,220) (70 x INH =)
43,840 (102, 390) 39,390 (97,940) | + 410 (910) xfnE=E 370 (860) xmnE=x 7,220 70 x hnE R
102,390 (174, 670) 97,940 (170, 220) | + 910/ (1,640) x =R 860 (1,590) xpnE=E
174,670 170, 220 + 1,640 x NEE 1,590 x NEE
34,980 (42,200) 30,910 (38,130) [ + 330 (400)  xfnE=E 290 (360) xmnE=E (7,220) (70 x inEH =)
42,200 (100, 750) 38,130 (96, 680) | + 400 (890) xfnE=E 360 (850) xpnE= 7,220 70 x hnE R
100,750 (173,030) 96,680 (168, 960) | + 890 (1,620) xnE=E 850 (1,580) xfnEH=E
173,030 168, 960 + 1,620 x NEE 1,580 x NEFE
33,600 (40, 820) 29,830 (37,050) | + 310 (380) xmnEZE 280 (350) xmnE=x (7,220) (70 x inEH =)
40, 820 (99, 370) 37,050 (95, 600) | + 380 (880) xfnE=E 350 (840) xEZE 7,220 70 x hnE R
99,370 (171, 650) 95,600 (167,880) | + 880 (1,610) xpnEH=R 840 (1,570) xpnE=R
171, 650 167, 880 + 1,610 x NEFE 1,570 x NEE
32,440 (39, 660) 28,940 (36, 160) | + 300 (370) xmE=E 270 (340) xmnE=E (7,220) (70 x IEH =)
39,660  (98,210) 36,160  (94,710) | + 370 (860) xfNE=E 340 (830) xfnE=E 7,220 70 x hnE R
98,210 (170, 490) 94,710 (166,990) | + 860 (1,590) xfnEH=E 830 (1,560) xfnE=E
170, 490 166, 990 + 1,590 x NEE 1, 560 x NEE
31,410 (38, 630) 28, 150 (35,370) | + 290 (360) xNE=E 260 (330) xmE=X (7,220) (70 x iH =)
38,630 (97,180) 35,370 (93,920) |+ 360 (850) xfnE=E 330 (820) xfnE=E 7,220 70 x hnE R
97,180 (169, 460) 93,920 (166, 200) | + 850 (1,580) xfnEH=E 820 (1,550) xpnEH=E
169, 460 166, 200 + 1,580 x INEZE 1,550 x INEZE
31,380 (38, 600) 28,320 (35, 540) | + 290 (360) xmE=E 260 (330) xmE=R (7,220) (70 x i H =)
38, 600 (97, 150) 35, 540 (94,090) | + 360 (850) xfnE=E 330 (820) xmnE=E 7,220 70 x pNE R
97,150 (169, 430) 94,090 (166, 370) | + 850 (1,580) xpnEH=E 820 (1,550) xpnE=E
169, 430 166, 370 + 1,580 x INEE 1,550 x INEE
30, 550 (37,770) 27,680 (34,900) | + 280 (350) xfnE=E 250 (320) xmE=E (7,220) (70 x iNH =)
37,770 (96,320) 34,900  (93,450) |+ 350 (850) xfnE=E 320 (820) xmnE=E 7,220 70 x hNE R
96,320 (168, 600) 93,450 (165,730) | + 850 (1,580) xfnEH=E 820 (1,550) xpnEH=R
168, 600 165, 730 + 1,580 x INEZE 1,550 x INEZE
29, 800 (37,020) 27,090 (34,310) | + 280 (350) xfnE=E 250 (320) xmE=E (7,220) (70 x INH =)
37,020  (95,570) 34,310 (92,860) |+ 350 (840) xfnE=E 320 (810) xfnE=E 7,220 70 x hnE R
95,570 (167, 850) 92,860 (165, 140) | + 840 (1,570) xpnE=E 810 (1,540) xpnE=R
167, 850 165, 140 + 1,570 x NE R 1,540 x INE R
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)z [ BULER a i | 31,600 35,200] 22,100 22,100
3 B R ~ 15A « b i | 17,400 19,400( 12,200 12,200
) 290 x MK x MEZA B 14,200 | 15,600 | 9,900 | 9,900 ’ ‘ ' ‘
1o$f 3g |1+ 2 BE| [ 29,590 mEAK o #itg | 15,200 16,900( 10,600 10,600
A [ d #i5 13,600 15,100] 9,500 9,500
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3ogv sa 1. 2 @R[ | 12,680 MEAH o #ilg | 5,200 5800 3,600 3,600
A [ d #is 4,700 5,200] 3,300 3,300
NA | g2 [¢ BRUER a thig | 9,800 10,900 6,800 6,800
) 3 B R 36A~ 45A . b #ig | 5,400 6,000( 3,700 3,700
90 x M x MEAH 4,300 4,700 | 3,000 3,000 ’ ‘ ' '
40;6 3g |1. 2 BE| | 9.800xmEAM o tlg | 4,700 5,200( 3,300 3,300
A [ d s 4,200 4,600] 2,900 2,900
NA | g [¢ BELER a thig | 8,800 9,800 6,100 6,100
) 3 B R 46A~ 60A . b #is | 4,800 5,400 3,400 3,400
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221,680 (228,670)| 174,170 (181,160) | + 2,190 (2,250) xpnE=R 1,720 (1,780) xhnE = (6,990) (60 x fINEH =)
228,670 (285,570)| 181,160 (238,060) |+ 2,250 (2,740) xpnE=E 1,780 (2,260) xhnE =R 6,990 60 x HNE R
285,570 (355,510)| 238,060 (308,000) |+ 2,740 (3,440) xpnE=E 2,260 (2,960) xpnE=E
355,510 308, 000 + 3,440 x INEE 2,960 x NEE
120,270 (127, 260) 96,510 (103, 500) | + 1,180 (1,240) x &= 940/ (1,000) xhnE =R (6,990) (60 x fINH =)
127,260 (184,160)| 103,500 (160, 400) |+ 1,240 (1,720) xhnE=R 1,000 (1,490) xhn&E =R 6,990 60 x HNE R
184,160 (254,100)| 160,400 (230, 340) |+ 1,720 (2,420) xpnE=R 1,490 (2,190) x =R
254,100 230, 340 + 2,420 X INEZFE 2,190 x INEZE
86, 360 (93, 350) 70,520 (77,510) | + 840 (900) xmE=E 680 (740) x mnE=R (6,990) (60 x N =)
93,350 (150, 250) 77,510 (134,410) | + 900 (1,380) xnE=E 740/ (1,230) xmn&E=E 6,990 60 x INEHE
150,250 (220,190)| 134,410 (204,350) |+ 1,380 (2,080) xpnE=: 1,230 (1,930) xmnE=R
220, 190 204, 350 + 2,080 x INEZFE 1,930 x INEZFE
69, 560 (76, 550) 57,680 (64,670) | + 670 (730) xmnE=E 550 (610) xmnE=x (6,990) (60 x fNEH =)
76,550 (133, 450) 64,670 (121,570) | + 730/ (1,220) xpn&E= 610/ (1,100) xhnE =R 6,990 60 x HNE R
133,450 (203,390)| 121,570 (191,510) |+ 1,220 (1,920) xhnE=R 1,100 (1,800) xhn&E =R
203,390 191,510 + 1,920 x INEE 1,800 x INEFE
64, 600 (71, 590) 55,100 (62,090) [ + 620 (680) xfNE=E 530 (590) xmnE=x (6,990) (60 x fINH =)
71,590 (128, 490) 62,090 (118,990) | + 680/ (1,170) x &= 590/ (1,070) xhnE =R 6,990 60 x HNE R
128,490 (198,430)| 118,990 (188,930) |+ 1,170 (1,870) x =R 1,070 (1,770) x &=
198, 430 188, 930 + 1,870 x INE R 1,770 x NEE
56,490 (63, 480) 48, 570 (55, 560) | + 540 (600) xfNE=E 460 (520) xmnE=x (6,990) (60 x fiNH =)
63,480 (120, 380) 55,560 (112,460) | + 600 (1,090) xnE=E 520/ (1,010) xpn&E= 6,990 60 x iNEHE
120,380 (190,320)| 112,460 (182,400) |+ 1,090 (1,790) xhnE = 1,010 (1,710) x o=
190, 320 182, 400 + 1,790 x INEZFE 1,710 x INEZE
50, 780 (57,770) 43,990 (50,980) | + 480 (540) xmE=E 420 (480)  x mE= (6,990) (60 x fNH =)
57,770 (114,670) 50,980 (107, 880) | + 540/ (1,030) xmn&E=E 480 (960)  x mnE=R 6,990 60 x INEHE
114,670 (184,610)| 107,880 (177,820) |+ 1,030 (1,730) xhnE=R 960/ (1,660) x hE =R
184,610 177,820 + 1,730 x INE R 1,660 x NEE
46, 540 (53, 530) 40, 600 (47,590) | + 440 (500) xfnE=E 380 (440) xmE=X (6,990) (60 x iNH =)
53,530 (110, 430) 47,590 (104, 490) | + 500 (990) xnE=E 440 (930) xmE=E 6,990 60 x HNE R
110,430 (180,370)| 104,490 (174,430) |+ 990/ (1,690) x =R 930 (1,630) xpnEH=E
180, 370 174, 430 + 1,690 x INEFE 1,630 x NEE
43,200 (50, 190) 37,930 (44,920) | + 410 (470) xmE=E 360 (420) xmE=R (6,990) (60 x fNH =)
50,190 (107, 090) 44,920 (101, 820) | + 470 (950) xmE=E 420 (900)  x hmnE =R 6,990 60 x INEHE
107,090 (177,030)| 101,820 (171,760) |+ 950 (1,650) xnE=E 900 (1,600) xpnE=E
177,030 171,760 + 1,650 x INEZE 1,600 x INEZFE
37,520 (44,510) 32,770 (39,760) | + 350 (410) xmE=E 300 (360) xmnE= (6,990) (60 x fNH =)
44,510 (101, 410) 39,760 (96, 660) | + 410 (900) xfnE=E 360 (850) xmnE= 6,990 60 x HNE R
101,410 (171, 350) 96,660 (166, 600) | + 900/ (1,600) xhnE =R 850 (1,550) xpnE=R
171, 350 166, 600 + 1,600 x NEE 1,550 x NEE
35, 640 (42, 630) 31,320 (38,310) [+ 330 (390) xmmE=E 290 (350) xmnE=x (6,990) (60 x fINH =)
42,630  (99,530) 38,310 (95,210) | + 390 (880) xfnE=E 350 (830) xmnE=E 6,990 60 x HNE R
99,530 (169, 470) 95,210 (165, 150) | + 880 (1,580) xpnEH=E 830 (1,530) xpnEH=E
169, 470 165, 150 + 1,580 x INEE 1,530 x NEE
34,050 (41, 040) 30,090 (37,080) [ + 320 (380) xmnE=E 280 (340) xmE=E (6,990) (60 x iNH =)
41,040  (97,940) 37,080  (93,980) |+ 380 (860) xfNE=E 340 (820) xfnE=E 6,990 60 x HNE R
97,940 (167, 880) 93,980 (163,920) | + 860 (1,560) xfnEH=E 820 (1,520) xpnEH=R
167, 880 163,920 + 1, 560 X INEZE 1,520 x INEZE
32,700 (39, 690) 29,040 (36,030) | + 300 (360) xmE=E 270 (330) xmnE=R (6,990) (60 x fiNH =)
39,690 (96, 590) 36,030 (92,930) [ + 360 (850) xfnE=E 330 (810) xE=E 6,990 60 x MNE R
96,590 (166, 530) 92,930 (162,870) | + 850 (1,550) xpnE=E 810 (1,510) xpnE=R
166, 530 162, 870 + 1,550 x NEE 1,510 x NEFE
31,570 (38, 560) 28,180 (35,170) [ + 290 (350) xfnE=E 260 (320) xmE=E (6,990) (60 x fINH =)
38,560 (95, 460) 35,170 (92,070) | + 350 (840) xfnE=E 320 (800) xfnE=E 6,990 60 x HNE R
95,460 (165, 400) 92,070 (162,010) | + 840 (1,540) xpnEH=R 800 (1,500) xpnE=E
165, 400 162,010 + 1,540 x NEE 1,500 x NEE
30, 570 (37, 560) 27,400 (34,390) | + 280 (340) xmmE=E 250 (310) xmE=X (6,990) (60 x fINH =)
37,560 (94, 460) 34,390 (91,290) |+ 340 (830) xmE=E 310 (790) xnE=E 6,990 60 x HNFE R
94,460 (164, 400) 91,290 (161,230) | + 830 (1,530) xmnHE=E 790/ (1,490) xhnE =R
164, 400 161, 230 + 1,530 x INEZE 1,490 x INEZE
30, 560 (37, 550) 27,590 (34,580) | + 280 (340) xmE=E 250 (310) xmE=R (6,990) (60 x fNH =)
37,550 (94, 450) 34, 580 (91, 480) | + 340 (830) xmmEZE 310 (800) xfnE=E 6,990 60 x fNE =R
94,450 (164, 390) 91,480 (161,420) | + 830 (1,530) xmnHE=E 800 (1,500) xpnE=R
164, 390 161,420 + 1,530 x INE R 1,500 x NEE
29,760 (36, 750) 26, 960 (33,950) | + 270 (330) xmmE=E 250 (310) xmE=x (6,990) (60 x fiNH =)
36,750 (93,650) 33,950 (90, 850) | + 330 (820) xmnE=E 310 (790) xnE=E 6,990 60 x HNE R
93,650 (163, 590) 90,850 (160, 790) | + 820 (1,520) xpnE=E 790/ (1,490) xpmnE=R
163, 590 160, 790 + 1,520 x INEZFE 1,490 x INEZE
29,020 (36,010) 26, 390 (33,380) [+ 270 (330) xmmE=E 240 (300) xmnE=x (6,990) (60 x fNH =)
36,010  (92,910) 33,380 (90, 280) | + 330 (810) xfnE=E 300 (780) xMnE=E 6,990 60 x HNE R
92,910 (162, 850) 90,280 (160, 220) | + 810 (1,510) xjnHE=E 780/ (1,480) xhnE =R
162, 850 160, 220 + 1,510 x NEE 1,480 x NEFE
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£l [ d #ig | 2,700 3,000 1,900 1,900
A | 2 A BEER a i | 7,100 7,900] 4,900 4,900
"o 3 B R 91A~ 1054 . b it | 3,900 4,300 2,700 2,700
) 40 x B x MEEAHK 3,200 | 3,500 | 2,200 | 2,200 ’ ' ' '
80;_6 3g |1. 2 BE| | 4.080xmEAM c i | 3,400 3,800] 2,300 2,300
£ [ d Hhis | 3,000 3,400) 2,100 2,100
BIA | o |+ BRELER a i | 6,300 7,100] 4,400 4,400
N 3 B R 106 A~ 1201 . b gt | 3,500 3,900| 2,400 2,400
) 30 MEE x MEALK 2,800 | 3,100 | 1,900 | 1,900 ' ‘ ' '
90;6 3g |1. 2 BE| | 3.570xmEAM c Mg | 3,000 3,400| 2,100 2,100
6/100 £ [ d #i | 2,700 3,000 1,900 1,900
BELL x| g [ EUER a sl | 5500 6,200 3,900 3,900
"o 3 B R 121A~ 1354 . b it | 3,000 3,400| 2,100 2,100
) 30 MEE x ME ALK 2,500 | 2,800 | 1,700 | 1,700 ' ‘ ' '
10(;)% 3g |1- 2 BE| | 3180xmEAM c i | 2,600 2,900 1,800 1,800
£ [ d His | 2,400 2,600) 1,600 1,600
A | g [ABELLR a Hiisi | 6,100 6,800 4,200 4,200
"o 3 B R 136 A~ 150\ . b it | 3,300 3,700] 2,300 2,300
) 20 MEFE x MEALK 2,800 | 3,000 | 1,900 | 1,900 ' ‘ ' '
11;)% 3g |1. 2 BE| | 280xmEAM c i | 2,900 3,200] 2,000 2,000
£ [ d Hhis | 2,600 2,900] 1,800 1,800
MA | g [ABELE a Ml | 5,500 6,200 3,900 3,900
o 3 B R 151~ 1804 . b gt | 3,000 3,400| 2,100 2,100
20 MEFE x ME ALK 2,500 | 2,800 | 1,800 | 1,800 ' ‘ ' '
12(;)% 3g |1. 28| | 2380xmEAM c i | 2,600 2,900 1,800 1,800
£ [ d His | 2,400 2,600) 1,600 1,600
A | g [ABELE a thigh | 5,100 5,700] 3,500 3,500
o 3 ® R 181A~ 2104 . b it | 2,800 3,100] 1,900 1,900
20 MEFE x MEALK 2,300 | 2,600 | 1,600 | 1,600 ’ ‘ ’ '
13(;)% 3g |1. 2 BE| | 200xmEAH c sl 2,400 2,700 1,700 1,700
£ [ d Hhis | 2,200 2,400] 1,500 1,500
BIA | g [ABELE a Ml | 5,500 6,200 3,900 3,900
o 3 B R 21TA~ 240A . b g | 3,000 3,400| 2,100 2,100
10 x M x AR A MK 2,500 | 2,800 | 1,700 | 1,700 ' ‘ ’ '
14(;)% 3g |1. 2 BE| | 1780xmEAM c i | 2,600 2,900 1,800 1,800
El [ d Hhis | 2,400 2,600) 1,600 1,600
WA | g [ABELR a Hiisi | 5,400 6,000 3,700 3,700
o 3 B R 241A~ 270A b it | 2,900 3,300] 2,000 2,000
10 x M x AR A S 2,300 | 2,600 | 1,600 | 1,600 ’ ‘ ’ '
15;)% 3g |1. 2 BE| | 15%0xmEAM c it | 2,500 2,800] 1,800 1,800
£ [ d #is | 2,300 2,500] 1,600 1,600
1IN | g |4 BELLR a thish | 4,800 5,400] 3,400 3,400
"o 3 B R 271A~ 300A . bt | 2,600 2,900 1,800 1,800
10 x M x AR A S 2,200 | 2,400 | 1,500 | 1,500 ’ ‘ ’ '
16(;)% 3g |1. 2 BE| | 140xmEA c i | 2,300 2,500] 1,600 1,600
£l [ d Hig | 2,000 2,300] 1,400 1,400
161A | o |4 BELLR a Hiisi | 5,400 6,000 3,700 3,700
"o 3 B R 30TA~ b it | 2,900 3,300] 2,000 2,000
. 10 x M x AR A 2,300 | 2,600 | 1,600 | 1,600 ’ ‘ ’ '
17(;)% 3g |1 2ME| | 1.300x mEAHK c it | 2,500 2,800| 1,800 1,800
£ [ d #ig | 2,300 2,500] 1,600 1,600
)z [ BULER a i | 4,800 5,400( 3,400 3,400
171 3 m R
u)l . 2,200 2,400 | 1,500 1500 || P 2.600 2,900/ 1,800 1,800
32 |1 2 BE c i | 2,300 2,500] 1,600 1,600
£l [ d Hhig | 2,000 2,300) 1,400 1,400
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217,080 (223,890)| 170,630 (177,440)|+ 2,150 (2,210) xpnE =R 1,680 (1,740) xpnE=R (6,810) (60 x fiNH =)
223,890 (279,570)| 177,440 (233,120)|+ 2,210 (2,680) xpnEH=E 1,740 (2,220) xmE=E 6,810 60 x HNE R
279,570 (347,740)| 233,120 (301,290) |+ 2,680 (3,360) xpnE=E 2,220 (2,900) xpnE=E
347,740 301, 290 + 3,360 x INEFE 2,900 x INE R
117,760 (124,570) 94,530 (101, 340) | + 1,150 (1,210) x o= 920 (980) xmnE= (6,810) (60 x fINH =)
124,570 (180,250)| 101,340 (157,020) |+ 1,2100 (1,690) x hnE =R 980/ (1,460) xhnE =R 6,810 60 x HNE R
180,250 (248,420)| 157,020 (225,190) |+ 1,690 (2,370) xhnE =R 1,460 (2,140) xhnE=R
248,420 225,190 + 2,370 X INEZE 2,140 x INEZE
84, 550 (91, 360) 69, 070 (75,880) | + 820 (880) xmE=E 670 (730) xmE=R (6,810) (60 x fNH =)
91,360 (147,040) 75,880 (131,560) | + 880 (1,360) xnE=E 730 (1,200) xpnE=R 6,810 60 x INEHE
147,040 (215,210)| 131,560 (199,730) |+ 1,360 (2,040) xpnE=R 1,200 (1,880) xpnE=:
215,210 199, 730 + 2,040 x INEZFE 1,880 x INEZFE
68,070 (74, 880) 56, 450 (63,260) [ + 660 (720) xmnE=E 540 (600) xpnE=E (6,810) (60 x INEH =)
74,880 (130, 560) 63,260 (118,940) | + 720/ (1,190) x &= 600/ (1,070) xpn&E= 6,810 60 x HNE R
130,560 (198,730)| 118,940 (187,110) |+ 1,190 (1,870) x =R 1,070 (1,750) xhn&E=R
198, 730 187,110 + 1,870 x INE R 1,750 x INEE
63, 200 (70,010) 53,910 (60,720) | + 610 (670) xfnE=E 520 (580) xmnE=E (6,810) (60 x fINH =)
70,010 (125,690) 60,720 (116, 400) | + 670/ (1,140) xpn&E= 580/ (1,050) xhn&E=E 6,810 60 x MNE R
125,690 (193,860)| 116,400 (184,570)(+ 1,140 (1,820) xpnE =R 1,050 (1,730) xpnE=R
193, 860 184, 570 + 1,820 x NEE 1,730 x NEE
55,260 (62,070) 47,520 (54,330) |+ 530 (590) xnE=E 450 (510) xmE=x (6,810) (60 x fiNH =)
62,070 (117,750) 54,330 (110,010) |+ 590/ (1,060) xhn&E=E 510 (990) xfnE=E 6,810 60 x HNE R
117,750 (185,920)| 110,010 (178,180) |+ 1,060 (1,740) x =R 990 (1,670) xpnEH=E
185,920 178, 180 + 1,740 x INEZE 1,670 x INEZFE
49, 680 (56, 490) 43,040 (49, 850) | + 470 (530) xmE=E 410 (470) x mnE=R (6,810) (60 x fNH =)
56,490 (112,170) 49,850 (105,530) [+ 530/ (1,010) xpn&E=E 470 (940) x mE=R 6,810 60 x INEHE
112,170 (180, 340)| 105,530 (173,700) |+ 1,010 (1,690) x =R 940/ (1,620) x =R
180, 340 173,700 + 1,690 x INEE 1,620 x NEE
45, 540 (52, 350) 39,730 (46, 540) | + 430 (490) xnE=E 370 (430) xmE=X (6,810) (60 x fiNH =)
52,350 (108, 030) 46,540 (102,220) | + 490 (970) xmE=E 430 (910) xmnE=x 6,810 60 x HNE R
108,030 (176,200)| 102,220 (170,390) |+ 970/ (1,650) x &= 910 (1,590) xpnEH=R
176, 200 170, 390 + 1,650 x NE R 1,590 x NEE
42,270 (49, 080) 37,110 (43,920) | + 400 (460) xmE=E 350 (410) xmE=R (6,810) (60 x fNH =)
49,080 (104, 760) 43,920 (99, 600) | + 460 (930) xmmE=E 410 (880) xmnE= 6,810 60 x HNE R
104,760 (172,930) 99,600 (167,770) |+ 930 (1,610) xmnE=E 880 (1,560) xfnEH=R
172,930 167,770 + 1,610 x INEZE 1, 560 x INEZE
36, 750 (43, 560) 32,100 (38,910) | + 340 (400) xmE=E 300 (360) xmnE= (6,810) (60 x fNH =)
43,560 (99, 240) 38,910  (94,590) | + 400 (880) xfnE=E 360 (830) xmE=E 6,810 60 x HNE R
99,240 (167,410) 94,590 (162,760) | + 880 (1,560) xfnEH=R 830 (1,510) xjnEH=R
167,410 162, 760 + 1, 560 x INEZE 1,510 x INEZE
34,910 (41,720) 30, 690 (37,500) | + 330 (390) xnE=E 280 (340) xmE=E (6,810) (60 x fINH =)
41,720 (97, 400) 37,500  (93,180) | + 390 (860) xNE=E 340 (820) xfnE=E 6,810 60 x HNE R
97,400 (165,570) 93,180 (161, 350) | + 860 (1,540) xpnEH=E 820 (1,500) xpnE=E
165, 570 161, 350 + 1,540 x NEE 1,500 x INEE
33,350 (40, 160) 29, 480 (36,290) | + 310 (370) xmE=E 270 (330) xmE=E (6,810) (60 x fiNH =)
40,160  (95,840) 36,290  (91,970) | + 370 (840) xfnE=E 330 (800) xfnE=E 6,810 60 x HNE R
95,840 (164,010) 91,970 (160, 140) | + 840 (1,520) xfnHE=E 800 (1,480) xpnEH=R
164,010 160, 140 + 1,520 X INEZE 1,480 x INEZE
32,020 (38,830) 28, 450 (35,260) | + 300 (360) xmEE 260 (320) xmE=R (6,810) (60 x fINH =)
38,830 (94, 510) 35, 260 (90, 940) | + 360 (830) xmE=E 320 (790) x mnE=E 6,810 60 x HNE R
94,510 (162, 680) 90,940 (159, 110) | + 830 (1,510) xpnE=R 790/ (1,470) x &=
162, 680 159,110 + 1,510 x INEE 1,470 x INEE
30,920 (37,730) 27,600 (34,410) |+ 290 (350) xfnE=E 250 (310) xmE=E (6,810) (60 x fINH =)
37,730 (93,410) 34,410 (90,090) | + 350 (820) xmnE=E 310 (790) xnE=E 6,810 60 x HNE R
93,410 (161, 580) 90,090 (158, 260) | + 820 (1,500) xpnE=E 790/ (1,470) xhnE=R
161, 580 158, 260 + 1,500 x NEE 1,470 x NEE
29,940 (36, 750) 26, 840 (33,650) | + 280 (340) xmE=E 250 (310) xmE=X (6,810) (60 x fiNH =)
36,750 (92,430) 33,650  (89,330) |+ 340 (810) xfnHE=E 310 (780) xnE=E 6,810 60 x HNE R
92,430 (160, 600) 89,330 (157,500) | + 810 (1,490) xpnEH=R 780/ (1,460) xhnE =R
160, 600 157, 500 + 1,490 x INEZE 1,460 x INEZE
29,950 (36, 760) 27,040 (33,850) | + 280 (340) xmE=E 250 (310) xmE=R (6,810) (60 x fNH =)
36, 760 (92, 440) 33,850 (89,530) [+ 340 (810) xmmE=E 310 (780) x MnE=E 6,810 60 x MNE 3R
92,440 (160,610) 89,530 (157,700) | + 810 (1,490) xpnEH=R 780/ (1,460) xhnE =R
160, 610 157,700 + 1,490 x INE R 1,460 x NEE
29, 160 (35,970) 26,430 (33,240) | + 270 (330) xmmE=E 240 (300) xmE=E (6,810) (60 x fiNH =)
35,970 (91,650) 33,240  (88,920) |+ 330 (800) xfnE=E 300 (770) | xMnE=E 6,810 60 x HNE R
91,650 (159, 820) 88,920 (157,090) | + 800 (1,480) xpnEH=R 770 (1,450) xpnE=R
159, 820 157,090 + 1,480 x INEZE 1,450 x INEZE
28, 440 (35, 250) 25, 860 (32,670) | + 260 (320) xmnE=E 240 (300) xmnE=x (6,810) (60 x fNH =)
35,250 (90,930) 32,670  (88,350) |+ 320 (790) xnE=E 300 (770) | xnE=E 6,810 60 x HNE R
90,930 (159, 100) 88,350 (156, 520) | + 790/ (1,470) x &= 770 (1,450) xhnE=R
159, 100 156, 520 + 1,470 x NEFE 1,450 x NEE
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A [ d s 3,800 4,200] 2,600 2,600
SIA | gz |4 BRELER a thig | 7,200 8,100 5,100 5,100
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N 3 B R 91A~ 105A . b #is | 3,900 4,300( 2,700 2,700
» 30 x B E x MEAH 3,200 3,500 | 2,200 | 2,200 ’ ' ' ’
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A [ d s 2,400 2,600] 1,600 1,600
A | g [ABELLR a Hiisi | 6,100 6,800 4,200 4,200
i) 3 B R 136 A~ 150.A b #iis | 3,300 3,700( 2,300 2,300
» 20 x B x MEAK 2,800 3,000 | 1,900 1,900 ’ ’ ' '
11;)% 3g |1. 2 BE| | 2780xmEAM o #ig | 2,900 3,200( 2,000 2,000
A [ d #is 2,600 2,900] 1,800 1,800
MA | 2 [#BRELER a sl | 5500 6,200 3,900 3,900
i) 3 B R 151A~ 180A b #ig | 3,000 3,400( 2,100 2,100
20 x B x MEAK 2,500 2,800 | 1,800 1,800 ' ' ' ’
12;)% jg |1. 28| | 2320xmEAH o thig | 2,600 2,900( 1,800 1,800
A [ d #if 2,400 2,600] 1,600 1,600
A | g [ABELLR a thigh | 5,100 5,700] 3,500 3,500
i) 3 B R 181A~ 210A b #is | 2,800 3,100( 1,900 1,900
10 x M3 x MERA K 2,300 2,600 | 1,600 1,600 ’ ’ ' ’
13&)% 35 [1o 2 @R[ | 1990xMEAHK c sl 2,400 2,700 1,700 1,700
A [ d s 2,200 2,400] 1,500 1,500
BIA | g [ABELE a Hiisi | 5,500 6,200 3,900 3,900
i) 3 B R 21TA~ 2401 . b #ig | 3,000 3,400( 2,100 2,100
10 x %3 X B A K 2,500 2,800 | 1,700 1,700 ' ' ' ’
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212,480] (219,120)] 167,080 (173,720 | +[ 2,100 (2,160) xm&=E | 1,650 (1,710) x MBE | +] (6,640)] (60 x MAE)
219,120 (273,560)| 173,720 (228,160)|+| 2,160 (2,630) xm&= | 1,710 (2,170) x m&E= 6,640  60x mEE
10A 273,560 (339,980)| 228,160 (294,580)|+| 2,630 (3,200) xmE= | 2,170 (2,830) x mE=E
FT 339,980 294,580 +| 3,29 xmEE | 2,830 x MEE
A 115,250 (121,890)| 92,550 (99,190) | +| 1,130 (1,190)] xImE= 900 (960) xm&E |+[ (6,640)] (60 x mMEE)
D 121,890 (176,330)| 99,190 (153,630)|+| 1,190 (1,650) xmE= 960 (1,430) x mEE 6,640  60xmEE
200 176,330 (242,750)| 153,630 (220,050)|+| 1,650 (2,310) xmE= | 1,430 (2,090) x mE=E
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40 127,660 (194,080)| 116,310 (182,730)|+| 1,170 (1,830) xm®E= | 1,050 (1,710) x mE=
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